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General English
Section Id : 264490574
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 21
Section Marks : 25
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Id : 26449017366 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Read the following passage and answer the questions based on it.

Many great inventions are initially greeted with ridicule and disbelief. The invention of the airplane was no exception. Although many people who
heard about the first powered flight on December 17, 1903 were excited and impressed, others reacted with peals of laughter. The idea of flying an
aircraft was repulsive to some people. Such people called Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and mechanics. As young boys they earned money by making and
selling kites and mechanical toys. Later, they designed a newspaper-folding machine, built a printing press, and operated a bicycle-repair shop. In
1896, when they read about the death of Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the desired direction. This idea was repellent to the Wright
brothers, however, and they searched for more efficient methods to control the balance of airborne vehicles. In 1900 and 1901, the Wrights tested
numerous gliders and developed control techniques. The brothers’ inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

Sub questions

Question Number : 1 Question Id : 26449017367 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage, the idea of flying an aircraft was fo some
people.

Options :
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| » heedless

, % uninteresting

3 v distasteful

4 % Unacceptable

Question Number : 2 Question Id : 26449017368 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

People of their days thought that the Wright brothers had
Options :

_ acted in a negative way

, » acted under negative influence
; » acted irresponsibly

4 acted without thinking

Question Number : 3 Question Id : 26449017369 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

By the end of the 18" century, the Wright brothers’ interest in flight grew into
Options :

% an Action Plan
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, » afoolish thought

3 « aneed to act

4 » anunfulfilled desire

Question Number : 4 Question Id : 26449017370 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lilienthal's idea about controlling airborne vehicles was the

Wrights.
Options :

|« disliked by

, » accepted by
;  disproved by

4 % proved by

Question Number : 5 Question Id : 26449017371 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The wright brothers almost abandoned their efforts on the gliders due to their
Options :
| = Ablity to design new gliders

Inability to test the power of the glides
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s x Ability to develop control techniques

Inability to obtain required life power for the gliders
4.

Question Number : 6 Question Id : 26449017372 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
He has been working for the company January, 2005
Options :

| % during

, « Since

; % before

L% after

Question Number : 7 Question Id : 26449017373 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

the last rainy season, many houses collapsed in the hilly areas.
Options :

% N
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, w Around

5  During

4 % BY

Question Number : 8 Question Id : 26449017374 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
John's elderly parents always prefer to travel car.

Options :

v BY

» % inside

3¥3in

4. % ON

Question Number : 9 Question Id : 26449017375 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Tilak is university student.

Options :
|« the
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2. @

4 % No article required.

Question Number : 10 Question Id : 26449017376 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Sarojini Naidu is Nightingale of India.

Options :

2. % an
3. % @

4% No article required.

Question Number : 11 Question Id : 26449017377 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym for the word INDOLENT from the below given words.
Options :
| % mindful

, o lazy
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5 » deadly

4 % significant

Question Number : 12 Question Id : 26449017378 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Add appropriate question tag to the given below sentence.
She attends the meeting

Options :
| % lsn't She?
, % Does She?

3 % Isn'tit ?

4« Doesn't she?

Question Number : 13 Question Id : 26449017379 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Rekha reached the airport after the flight

Options :
L % has departed

, » Wwas departed
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3 had departed

, » have departed

Question Number : 14 Question Id : 26449017380 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
The principal for a walk in the school ground every day.
Options :

| % Isgoing

, x gone

oes
3.¢ 2

4w went

Question Number : 15 Question Id : 26449017381 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

When the tourists themselves the flower show yesterday, it started
to rain.

Options :
| % enjoyed
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have been enjoying

; » have enjoyed

4 Were enjoying

Question Number : 16 Question Id : 26449017382 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Governor the national flag at 8 a.m. tomorrow and

the awardees.
Options :
| hoists, honors

5 % will hoist, will honor

- is hoisting, is honoring

4 % would hoist, would honor

Question Number : 17 Question Id : 26449017383 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
A number of soldiers cduring the war last month.

Options :
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| o were injured

, % areinjured

3 % have injured

4 % have been injured

Question Number : 18 Question Id : 26449017384 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Minister, along with his officials the press every Saturday.
Options :
| % is meeting

, % are meeting
3« Meets

L% meet

Question Number : 19 Question Id : 26449017385 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
One of the doors of the bank by the thief who attempted a
burglary.
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Options :

% is damaged

, o Was damaged

, » are damaged

, w were damaged

Question Number : 20 Question Id : 26449017386 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Neither John nor Peter this book.
Options :
L has read

have read

were reading

. have been reading
4.

Question Number : 21 Question Id : 26449017387 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: The invigilator was reading out the instructions clearly.

Options :

The instructions have been read out by the invigilator clearly.

The instructions are being read out by the invigilator clearly.
2. %

The instructions were being read out by the invigilator clearly.
3.¢

L% The instructions has been read out by the invigilator clearly.

Question Number : 22 Question Id : 26449017388 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: A small boy could not have carried this big parcel.

Options :

This big parcel could not be carried by a small boy.
1. %

. This bhig parcel could not been carried by a small boy.
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This big parcel could not have been carried by a small boy.
3.¢

This big parcel could not being carried by a small boy.
4, %

Question Number : 23 Question Id : 26449017389 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The teacher told the boy that he was not studying well.

Options :

| The teacher said to the boy,” You are not studying well”.

5 % The teacher told to the boy,” You are not studying well”.

The teacher said to the boy,” He is not studying well".
3.

The teacher told to the boy,” He was not studying well”.
4, %

Question Number : 24 Question Id : 26449017390 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The manager said to the clerk, "Have you completed the work?”

Options :
| % The manager asked the clerk if he has completed the work.

” The manager asked the clerk if he had completed the work.

. The manager asked the clerk if the work has been completed.
3.

4% The manager asked the clerk if he have completed the work.

Question Number : 25 Question Id : 26449017391 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following words best expresses the meaning of the

underlined words in the given sentence?

Sentence: It rained cats and dogs last night.

Options :

| % moderately

, w lightly
3 % intermittently

4  heavily
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General Knowledge

Section Id : 264490575
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 26 Question Id : 26449017392 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On which day of the year is the National Education Day observed in India?
S thlbruns Sl gt Ll ﬂ-"” PLS? s
Options :
March 6

& A6

January 14

g2 14

2. %

September 8

A8

3. %

16/121



7/14/22, 4:32 PM

November 11

v 2411

Question Number : 27 Question Id : 26449017393 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Internet is a

& Lo

Options :
Network
| % _-'I/.-r'.!‘d'-:"'

Network of Networks

~

o . e .
orer2 ) e

2. %
Software
a2
3.8 =
Server
J!/"
4, %
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Question Number : 28 Question Id : 26449017394 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was India’s capital shifted from Calcutta to Delhi?
?gy/uwbgﬁ e ol 3 W1 sE I 2

Options :
1935

1900
2. %

1911
3.¢

1929
4. %

Question Number : 29 Question Id : 26449017395 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

MQOOC stands for
i MOOC
Options :

Mobile Open and Online Course

. AL ST Sy
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Massive Open Online Course

ur;,!'/uf UeITeLatat

2. ¢
Media-based Open Online Course
AL VST d 4
3. %
Machine-based Open Online Course
U u{ffﬂ T ol drt o
4. %

Question Number : 30 Question Id : 26449017396 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kangaroo’'s abdominal pouch is known as
_u[}':ﬁ.,:.fffd#%iuﬁ
Options :
Placenta Pouch

LE?L‘%"’L&

1. %
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Guttural Pouch

Nalt

Marsupium

[‘H‘"fi JL

3.¢¥

Synovial Membrane

G0

4. %

Question Number : 31 Question Id : 26449017397 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“One class one TV Channel” programme of PM e-vidya expanded from 12 to.
%-@;L@f{ .ﬁ_,":‘.’ii-ig_&.ﬁ-lZKH!fjé"Jf:_u;-Jwgu@;”ﬂ;;-dnrﬁj_q

Options :
w120

, o 200

140
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4 150

Question Number : 32 Question Id : 26449017398 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Gateway of India in Mumbai was built in honor of

# . - T ) S
b aAal o i Te e S s

Options :
King George
v ;_',ul?-._-é/
Lord Mountbatten
S
2. %
Queen Elizabeth
sk
3, %
Lord Macaulay
sl
4, % 2

Question Number : 33 Question Id : 26449017399 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The book “Origin of Species’ was authored by
_Lﬁﬁwifaﬁu’ﬁff_ﬂueﬂq
Options :

Charles Dickens

I e
1. % ¥

Charles Darwin

c)ﬁ;ljufJ;%

2.9
Charles Babbage
B e

3. % .

Charles Lamb

U e

Question Number : 34 Question Id : 26449017400 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The name of the virus that caused Covid-19 in the early days of the pandemic is
,f"L'b/l_f,:!:LJ:LL!v_‘.flg-ﬁufufu:?;'ilﬁff.‘,}u)t

Options :
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SARS-CoV-2
1. ¢

SARS-Covid19-2

2.
Cov-SARS-1
3. %
SARS-Covi-D2
4. %

Question Number : 35 Question Id : 26449017401 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following was given the Oscar Honorary for Life Time
Achievement in 19927

'E“r@ ,J._)f ._b.:fﬁlfl.f_ifﬂ;!jiﬁ')d?ut‘: 1992

Options :
DadasahebPhalke

iL{j_‘ﬂLﬂfﬁJ

Satyajit Ray

L-J:-:.::_L;""
2. ¢
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Aparna Sen
by
K B

Rituparno Ghosh

L% Uﬁﬁ-{‘; o)

Question Number : 36 Question Id : 26449017402 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Union Budget 2022 focuses on how many areas
GES 23 Ut & k202205

Options :

Question Number : 37 Question Id : 26449017403 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Who is considered the inventor of World Wide Web (www)?
‘e L:,l:r":u;r!"s’.f:;iﬂ:ﬂ;: (www)
Options :
Tim Berners-Lee

- J—u"/'f(’

Bill Gates
A

Larry Page
EéA

3. %

Jimmy Wales

Pl

Question Number : 38 Question Id : 26449017404 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term Grand Slam is associated with
o re Pt/

Options :
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Lawn Tennis

u"gu‘ U

1.¢
Billiards

2. % i/‘%'
Chess

3. % 6/!?‘}
Basket Ball

L Juaty

Question Number : 39 Question Id : 26449017405 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The SardarSarovar Dam is a terminal dam built on the river
‘-"\:.fkfﬂpf.,.diu’"'ﬁﬁ;@J’:}_{Iﬁj;j;f;l;/
Options :
Sutle

L
1. ® é’
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Ganga
gtl:.-

Narmada

Il‘
3 S

Brahmaputra
4. % LRy

Question Number : 40 Question Id : 26449017406 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the theme of the ‘Earth Day 20227
S VUBSS ,62022 ey

Options :
Covid and Planet

| % !J__L:H,-'J'Ij!!(
No to Pollution

. S ol
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Sustainable Living

=

a -~
O AINN

3. % o

Invest in our Planet

. .fg' , R

GBI A e
4. &

Teaching Aptitude

Section Id : 264490576
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 41 Question Id : 26449017407 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good Classroom Communication will ensure a
- - r,- & - I____. :
L&UJQ}&J‘U ;Eur!utfd :r-"ll.ﬁ;-/ e
Options :
supportive classroom climate

- AL =tz f
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good learning environment

2. Jﬁw/ét‘{'

activity-based classroom

% :’iu”/&{-@f/

3.

joyful learning experiences

:,L:/,"E.*ﬁfﬂﬁﬁ

4, %

Question Number : 42 Question Id : 26449017408 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher discussing the academic problems of students with other colleagues in the
school is

eSS LW A LUl it FIzt L
Options :

Upward Communication

S B s

1. %

Downward Communication
L):;Lj'.!j
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Horizontal Communication

Grapevine Communication

. FEH

4.

Question Number : 43 Question Id : 26449017409 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One can become a popular teacher among students by
Wt UL Lo gt Lo s LW

Options :
awarding good marks

| % L?_;J:.Jﬁ"(i'i!

handling special classes

5 % L’;rT’U'?FE/JJLElfr“:;

helping them solve their problems

ki TS S
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giving learning materials

o/ A1 ol Sk
4. %

Question Number : 44 Question Id : 26449017410 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The best way to maintain discipline in the class is to deal with the students
LIS A LWL L LS ) o Srmslan S
Options :
affectionately

strictly and friendly
:r!JJKJ!JJ!IC'f

2. ®

strictly and authoritatively

xS oS

politely, but firmly
P -0 T o

Question Number : 45 Question Id : 26449017411 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important element of teaching is
ﬁﬁ!g’j;;
Options :

Teacher's Knowledge in the subject

% %%FL;&JUU«*

Teacher-Student Relationship

v :-:’..JKH;-:-*JLE'JJ’J.JA

2. -

1.

Teaching Techniques

e
e St

3. %

Technological Aids for Teaching

e LS As

4, %

Question Number : 46 Question Id : 26449017412 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Effective classroom environment can be ensured by

Fi..by/gé. Litivfes L?.n/
Options :
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lively student-teacher interactions

e Ol S g s
B F e

advanced technological gadgets

LTugf d. ":—-JJUiF'

2. 8

pin-drop silence in the class

3 % J:“'L:"ug[:u'::.-%ﬁn/

high-cost infrastructure

L A PEES

Question Number : 47 Question Id : 26449017413 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If one wants to become the best teacher, he or she should
—o!?ﬁ:.%'ﬁJJJC«r_ ";.LE;(;!
Options :
control the class effectively

E S e i dasan )
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correct the test papers and assignments strictly
e s éL?Jui‘(‘ LJU:!U",;_::E-._".#.::

2. %

handle the classes humorously
PP | 15510

motivate the students to learn

SSipber Sb L S

Question Number : 48 Question Id : 26449017414 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The primary purpose of punishing a student is to
_ﬁ.—xﬁz’djﬁb’%;!f:r’(};@&_g
Options :
show the teacher’s authority

G635 s St

1. ®
correct the offender

[
. L'ILUJJ["/?
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threaten the other students

L‘!;h@bgf’u

enforce discipline in the class

CSFG Loy Sreslzg )

4, %

Question Number : 49 Question Id : 26449017415 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the students show lack of interest in the subject, a teacher should
e bt /U et 6 ﬁ;rﬁuﬁ‘.uf" S

Options :
make his or her teaching more interesting

| % f_.ﬁ,f:_.ﬁmu;/u': Jodk

teach with real life examples

Sord Lyl SuE

2. %
attempt to find out the reason for lack of interest

LT S0 B= (4
3.9
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teach with stories and songs
u:flﬁzﬁ' LUy L;#/
4, % ’

Question Number : 50 Question Id : 26449017416 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher can learn the nuances of teaching the subject and dealing with students from

_g,ﬁﬁagc.cjid/}’;.w;.ﬂggxg J;‘JJL;’)".VJJ,h
Options :
Students

N

1.v

Fellow Teachers

XS L

Senior Teachers
&

s XA Sy

Principals

k—:JJ

L
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Botany
Section Id : 264490577
Section Number : 4
Mandatory or Optional : Mandatory
Number of Questions : 50
Section Marks : 50
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 51 Question Id : 26449017417 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who proposed the theory of spontaneous generation of life?

B ] -; L _d-:-. ) ] [ #* 3
Py IV D7 4 VeV g i B P
Options :
Nageh
&
73
-
1. %

Edward Jenner

/-‘-"-:.:):.;,J:,jrl
2. %

Louis Pasteur
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Robert Koch

If'

e T
F o
o I

4. %

Question Number : 52 Question Id : 26449017418 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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In five kinedom concept, the prokarvotes were classitied under the kingdom of
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Nucleic Acid present in Virus
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The genetic material of Tobacco Mosaic Virus is
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The most common method of reproduction found in bacteria is
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The bacteria employed in biogas production from cow dung 1s
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Floridean starch is a storage food product of
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The fungus Penicillium is commonly known as
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Which of the following is right answer
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All fungi are autotrophs
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Pseudoelaters are found in
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In Marchantia sporophyte.the spore producing region is
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Mixed protosteleis found in
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An example of living fossil is
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Vascular bundles in dicot stems are
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Lateral roots are formed from
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The plant in which vascular bundles found in pith
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Phylogenetic system of classification is based on
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Similarities between plants
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The “Natural system of classification of angiosperms™ was proposed by
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Odd petal is anterior in the plants of
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Rutaceae members are rich in which of the following nutrients?
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In members of the Asclepiadaceae family, the stamens are modified into

L

- LA an Lok i N wiw ok
uufi_-.?f!,&"'l":' .-"‘L,,r_f)u r.g‘;;_, -';';'L,rr-:)[,-’jri'.- '”-'LL?L}—.."IE':.UP[

Options :

Syngenesious

Androphore
.."'."I: L ,..‘;_'-[

4. %

Question Number : 72 Question Id : 26449017438 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The type of inflorescence present in sugarcane
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Which of the anther wall layer act as a nutritive tissue?
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The entry of pollen tube into the ovule through micropyle region is known as
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The endosperm found in tender coconut is
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Ruminate Endosperm
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Synthetic weed killer is
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The process of water exudation through hydathode is called
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Identity the macroelement from the following.
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Pigment essential for nitrogen fixation in leguminous plants?
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The energy-capturing reactions of photosynthesis occurs in
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Plasma membrane
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Photorespiration occurs in
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The ‘energy currency’ of living organisms is
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The fatty acid found in Gingelly oil
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The hormone responsible for seed dormancy
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Which organelle is having only one unit membrane
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The lightly stained and diffused region of chromatin is known as
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The bond between base and sugar in DNA is
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The coiling tension created by unwinding of double helix DNA is reduced by the enzymes
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Which one is a terminating codon
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During meiosis, in which of the following stage the crossing over occurs?
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In plant breeding, the most common method used in the production of new variety

of plants is known as
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Which of the following mutation is commonly used in agriculture?
€ ot el s Nt Aol s
'1-._- v.’__,-',.. | LY -5 =S --I,.I,.-"l-'l ..-":'..-'.- I l.,'-'--r-r 44

Options :
71121



7/14/22, 4:32 PM
Recessive and lethal

fad eIl sl w2

Spontaneous

Sl
2. ® )

Lethal

J
[,‘;‘_l;_r'l,;}

Induced

- L

| -
:.-‘ j — d"
+

Question Number : 93 Question Id : 26449017459 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The layer of atmosphere in which man and other living organisms live is called
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In a biotic community, the primary consumers are
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Which of the following is a Lotic ecosystem?
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Puddles
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The metabolically active form of Nitrogen in the cell is
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The movement of individuals out of the population due to the overcrowding as an
adoptive behaviour is known as
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In India, which phytogeographic region shows richest vegetation?
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Endemicplants are

PR 4 b
!Pi;f.vlb"*

Nl e

Options :
Plants are grown in all over the world

%
esvd (e 2Ly

1. ®
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Plants grown in certain restricted environments
F

e dd i a ) Pl

2.¢

Plants grown in hill areas

b L
3, %
Plants grown in one continent
esgd bl lwf‘b’ ey
4. %
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The most significant cause of dwindling biodiversity is

23 F ey Q' “’V U Lrl.r‘*
Options :

Biological magnification of DDT

& _/'1
,-..!v-"'lh_:

]
I

i ._—_,E_‘-L:_,

(,‘
(;‘

Global warming

2. #® -—»j:i,fl!vt}g
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Destruction of habitat

- -~
P
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3 -\/' l'-:1, h-:'--"

Net primary productivity
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What 1s the basis for the classification of Protozoa?
?.i' *Lf(}_l.f::JJ,ﬂ-:,.;J: Jlﬂ;j{_
Options :
Mode of nutrition

. AW
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Type of Skeleton
- lr_.- i 3
FUSLs

2. %

Type of reproduction

% e
® (‘-'-'*'*!:'I"'I
3.

Locomotory organelle
UL

4.
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Name the protozoan you have studied with alternation of generations?

S LI b Ut undehih i ey LT

Options :

Elphidium

33k
v

1.
Euglena

s

2.
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Balantedinm
A

3. %

Vorticella

lk Gos

4. %
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In hexactinellida the tyvpe of spicules present 1s

fjdﬁujg-g’:ﬁru:ug&*ﬁgn;@

Options :
Monaxon
by
w7 Ls

Triaxon

CJI:,J E_}'
2.9

Tetraxon

k
A%

3. %
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Polyaxon

S
Olbg"

4. %
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Which of the following is the correct set of functions of canal system in sponges ?
e WSUIEL BT
Options :
Nutrition. Locomotion. Excretion
NPl 7 J5T

1. %
Excretion. Reproduction. Migration
-I - L
) P Sl 7
2.

Nutrition. Respiration. Excretion

R T

Locomotion. Reproduction. Protection

Lafe ) 7

4. %
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Acorn worm is the common name of

SertrbU U Sl Kb

Options :
Balanogloses

1.v J/lﬂfu:

Cephalodiscuss
Ly
5, % = J‘}JLE'.""
Peripatus
Lf}!‘,:i:lf
3. %

Rhabdopiura
T K

4. %
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A coral known as ‘sea fan’ 1s
USSR

Options :
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Tubipora
P
| DJ’L?!;
Pennatula
Uy G
2. % T e

Alcyonium

&4
3. %

Gorgonia

21
o

4.
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The Chromosome with centromere near the end is called

- iTLL;{; r‘sjfjfj VLMEJ{;‘LHE{ A Vel

Options :

Telocentric

AL

Metacentric

S R
. S0
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Acrocentric

» S

Submetacentric

SRy
4, ®
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Miracidium 1s the larva of
L
RV B
Options :

Fasciola

&
ezl

1.¥

Taenia

'

2. % T

Oxyuris

W
3 ® J20 |
Ascaris

4, %
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Pseudocoelome is present in which of the following animals?
T.f_. [rara? via se UJJ;H?UHL S ilus
Options :
Taenia

]

1.® 7

Pheretima
2. % Uz
Ascaris

T
v JoK-

Hirndinaria

* &

Question Number : 110 Question Id : 26449017476 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Eggs of reptiles and birds are of which type?
Tug‘f.:(jg/:'__iﬂé LJ!,J-:.«;J!FJ;L?LI!iJ
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Alecithal
L{JJ}:’._.

1. %

Isolecithal
(§ a0

, x G
Macrolecithal
L‘E_}J.}UL{

3.9
Heterolecithal
d;:.r.?):

4, %
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Based on the nature of excretory products the leech can be called as
“r” i | & 4

S ::::r;fﬁ.;b:;;a,ﬂ;f:s LSV

Options :

Ammonotelic

o M
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Ureotelic

Ary
S

2.

Uricotelic

'b -Ei /
¥
- L. 3

3. %

Ureotelic and Uricotelic

. -.-@:L{ul_@;_’jf

4.
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In cephalochordates gill slits open into

LSS
Options :
Pharynx

1. % I”?l’

Atrium

"

v WP

Coelome

Ll

x &

3.
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Heart

|
4.8 Y
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Peripatus is a connective link between
-;E'_.Lfy/dlsi.;ﬁu)yﬂf. uirujgd,«:-?
Options :
Annelid & Arthropod

T ANEL]
1. F o

Annelid & Mollusc

2. % ..CJ,»;,-,‘.;JJr

Arthropod and Mollusc

W1
3 W »

Annelid & Aschelminthes

4. % fwfﬂn,y&r
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Temperature deperldent sex deterimination is observed in
e (LB el
Options :

Drosophila
L % E_L’!‘!JJ

Amphibia
L
2. %
Reptiles
v Abd Uéi;

3.

Sea archins

S

4. %
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Butterflies and Moths belong to the order
W - [ o- ? " "
S E&JUI’L@‘JJJ(E?JHQ"W

Options :
Hymenoptera
'

Rl
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Hemiptera
ICH
2. %

Lepidoptera

| b thJ
j:?!)?
3.

Thysanoptera

Y-t
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Genes for colour blindness in man are located on
..L,HL:L;L:JIL;C‘,?Lf:é.,ﬂﬁu};bj!(ugﬁwﬁ!
Options :

x - chromosomes only

- S x i

y - chromosomes only

u/;jﬂ/ Y ¥
®

2.

Either x ory
ybx

3. %
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On both x and y chromosomes

L% VAL RILLD |
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Dentalium is commonly called as
ra
o bl el el
Options :

Apple snail
1. % .

Tusk shell

L Jress

Cuttle fish

3. % *}L{fb’w

Sea hare

A5
4, %
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Which one is known as "Mother of Pearl"?
S bl Qi
Options :
Nitra

it

Lx 7

Limtu

3. %

Nacre

ot

4. ¢
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An ability of gene to have many effects is

iugi.ﬂjitolﬁu’u;.u?aﬂ“aw(cﬁ?
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Phenotype

e U

Epistasis
€

L,.-

2% <

Dominant gene

O

3. % *

Pleotrophy

Sasrk
4.
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Which is the animal that you have studied exhibits Retrogressive metamorphosis?
I" b ul *an i -
?.f:__ b l.':r-.._.»lﬂ’d;r-‘;lﬂzﬂ Q:J!Lgi.ﬁﬂf; L e |
Options :

Latimeria

1. % rA
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Anguilla

o
®

2.
Ichthyophis
S

3. % "
Herdmenia

v ¥
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The embryonic respiratory organ in chick is
A5Gy,
Options :

Allontois

jﬁﬂf

1. v
Chorion

t;)_L_Jl(

2. ®
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Yolksac

,.,;:Q;’u.?

3, %
Amnion
S

4. %
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Aristotle’s lantern 1s seen in

P N1

Options :

Asteroidea

Echinotdea

¢
L3s7%
2.

Ophiuroidea

L iatsupesl
3. %
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Crinoidea
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The subunits of 70 S ribosomes include
JLEId S5 70 S

Options :

40 S and 60 S

60 S » 40 S

1. %

30Sand 50 S

50S .4 308
2.9

20 S and 50 S

0 S 4208

3. %

97/121



7/14/22, 4:32 PM

30Sand 40 S

40 S »1 30 8

4. %
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The larva of hemichordates 15
ot

Options :

Redia

Lis
1. %

Ephyra
)
2. %

Cercaria

I..-"

oy

Tornaria

LAt
4.9
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Nauplius larva belongs to

_q's.‘_:_pJwaK:_.u UJ’EE

Options :

Shrimps

2. ¥

Echinoderms
T |

3. %

Molluscs
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The Characteristics of Urochordata is having a tail and a

TSI U O,

Options :
Backbone
oy

Spinal cord
2506

Notochord

$AS

3.¢

Buccal cavity

-

f
‘jl')/ 4
) Ay

4. %
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Which of the following organisms neither have notochord nor vertebral column in the adult
stage?
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Options :

Amphioxus

J'{:”’f
®

1.
Herdmania
vl

2.4 "
Peteromyzon
O

3. %
Bdellostoma
Lavak s

4. %
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Which group is called “Agnatha™?

wgilzi'i_.;;:dfuﬂ

Options :
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Tunicates

Amphioxus

Ve
C®

2

Cvclostomata
bl sl

3. ¢
Ascidia

423&‘9”':
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The type of scale seen in Elasmobranchii 1s
BB Lt s

Options :
Ctenoid

. “ed
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Placoid

b
v FEk

Cycloid

Ganoid

414

4. %
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Alyvtes is commonly called as

- e T
2L AE
Options :

Clawed toad

58

1. %
Midwife toad
¢
H@rdl."
2.
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South Indian toad
L .
Sz

Burrowing toad

Sk

Question Number : 131 Question Id : 26449017497 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The commeon Indian monitor 1s

;.Eé'fd- |;_'_,'I_/€3LT-'!JJ{('|£

Options :
Varanus

' IU.!
1. v v

Chameleon
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Mabuya

L
4. %
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The largest living bird 1s
aﬂ.r;ﬂﬂ?lf{s::.-_w-‘_ '

Options :

Kiwi

o

1. %
Emu
¥l
2. %
Cassowary
|'_EJJ}” {
3. %
Ostrich
] “ﬁ-
Lrr
4. ¥
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The order Insectivora comprises

-

Uljé.f(:'fw“:’..—.?uJ.»? &"J:Jl

Options :

Echidna
i
1. %

Opossum
s

il
| =

Vampyrus

Wl
3. %
Hedgehogs
ke
4.
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The erythrocyte has a shape.

B’

Nl a2V

-
Options :

Spherical

s/

1.

Convex

—iF

2. %

Concave

Lol

/ﬂv’

3. %

Bi-concave

4\_?.-5/*”;.;
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Which of the tollowing organelle is called the “suicidal bags™ of the cell?

BRI T A SN

Options :
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Cvtoplasm
Cilk ¥l

ILysosomes
I"".!'.; rJLI
2.¢

Mitochondria
LK

Endoplasmic reticulum

|"%.J-ﬁ—[};j¢:|:

4. %
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Example for polygenic inheritance is

Jﬁ*&)!j_ﬂ;?’,&ﬁf

Options :
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Skin colour in man

) Lk du

l.

Polydactyly
=
5 % h_':,,j}"ljg'(

Colour blindness

Leslbts
3. %
Harelip
=
4. %
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When two homologous chromosomes fail to separate during anaphase of cell division 1s called

-0 ':i/,: 9w jlf‘; Jf‘:.)/.ff}(?lnuu»i,étlﬁ ﬁmagﬁ’
Options :
Heterogamesis

e
ST

1. ®
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Non—disjunction

FEUi ot
.

2.

Crossing over
e
;;:i‘fr I/
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The idea of use and disuse of organs was given by
Ui 2s 8 sl o1 L Lo
Options :
Lamarck

oLy
1.
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Morgan

Ky

2. %

Darwin

"r..‘.!tt

-
3. %

Hugo de Vries

uf-lﬁd :U? L &

4. %
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The fertilized egg divides by the process of

e blla L S miEn

Options :

Oogenesis

Y

Cleavage

g2

2.9
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Regeneration
Vlkedb

3. %

Invagination

L

4. %
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The normal diastolic blood pressure in a normal healthy adult human 1s

?i:_t‘r:mg:gwi:&wil’L;L,':{;,'Ljfgi;.:—f.ﬂj%‘b_g

Options :
80 mm Hg
1.v

60 mum Hg
2. %

90 mm Hg

110 mm Hg
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This hormone 1s responsible for “fight-or-flight” response

e S B

Options :
Thyroxine and melatonin

Jﬁl&’f&iu}rf}rg

1.

insulin and glucagon

- 4 | =
5 % KR )

Epinephrine and Norepinephrine

L AUt P
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oestrogen and progesterone

s .',;!3/‘*"‘?3.,; Ialefs
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The recycling of elements in an ecosystem is called

IO NN SR Pttt

Options :

chemical cycle
-

T
IN0VA
1. %
geological cycle
m,_:CJ
2. %

geochemical cycle

< -
s x .u.'d &A;rjﬁ_f

biogeochemical cycle

3 L,L'L‘xﬂﬁ J Jk}
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Enzyme used in shotgun technique of DNA 1solation is:

.a/L.;Ulsi.yadbrf"luf.gﬁ‘bfé@’blmid;ﬂ#'.!DNA

Options :

Restriction endonuclease

" &=
;:'{t::i?.'u’{;’ﬂ'x
R

Polymerase

!

Transcriptase

L AV

S1 Nuclease

A Si
3

4.
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The most popular and widely used engineered plasmid vector 1s
e rhed A i L Bl e o

115/121



7/14/22, 4:32 PM
Options :

PUC

pBR322

p SC101
3.

pUC19
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The PCR (Polymerase chain reaction) Technique was developed by

St s SIEF PCR

Options :
Kohler
1. %
Altman
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Milstern
3.9

Kary Muller
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The Physical method of gene transfer is -

3 p8 s

Options :

Bacterial transformation

TS 2

1. %
Electroporation
J;IJ?; L] /zg f

2.

Ca phosphate co-transformation

, Fadesi
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Micro injection

A4

4. %
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In PCR denaturation of DNA occurs at

ety 7enu1bEDS DNA Uf PCR

Options :

94 <C
1. ¢

84 °C

64° C
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Which harmone is not secreted by anterior pituitary glands?
Wrbé s i’
Options :
ADH

1.v

GH
2. %

Proclatin

oL

3. %

FSH
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‘Nitrogen Fixation’ means conversion of atmospheric nitrogen to
&4 Py
—eUn AU LA e Sl AL

Options :
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Nuclic Acids
2o My

1. ®

Ammonium ions

Ulsfar]

2. %

Ammonia
e
3.¢

Proteins

L)
s
4. %
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How DNA can be as a useful tool in the forensic applications?
S JTens 60 A" DNAE I L9

Options :

Showing different degrees of polymorphism with saliva
e b SBL pAdLe

1. &
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Showing the same degree of polymorphism with hair follicles

‘*mdﬁtﬁ&{fﬁjﬂdgau’gﬁu{

2.
By not possessing any hereditable information
b ; utt Ve
_;‘_..!'EV".?:HL}WGLJ:{. C,/J’QJU
3. %

By the presence of lysozymes in it
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